

Some identities for (s, t)-Pell and (s, t)-Pell-Lucas numbers and its application to Diophantine

equations

Somnuk Srisawat*, Wanna Sriprad Department of Mathematics and computer science, Faculty of Science and Technology, Rajamangala University of Technology Thanyaburi, Pathum Thani, 12110 Thailand *Corresponding Author: somnuk_s@rmutt.ac.th

Received: 4 November 2016; Revised: 23 December 2016; Accepted: 26 December 2016; Available online: 1 April 2017

Abstract

In this paper, some new identities for (s,t) - Pell and (s,t) - Pell-Lucas numbers are obtained by using matrix methods. Moreover, the solutions of some Diophantine equations are presented by applying these identities. **Keywords**: Pell-numbers; Pell-Lucas number; (s,t) -Pell number; (s,t) -Pell-Lucas numbers; Matrix method

©2017 Sakon Nakhon Rajabhat University reserved

1. Introduction

Let s,t be any real number with $s^2 + t > 0$, s > 0 and $t \neq 0$. Then the (s,t)-Pell sequences $\left\{P_n(s,t)\right\}_{n \in \mathbb{N}}$ [1] is defined by

$$P_n(s,t) = 2sP_{n-1}(s,t) + tP_{n-2}(s,t), \text{ for all } n \ge 2,$$
(1)

with initial conditions $P_0(s,t) = 0$ and $P_1(s,t) = 1$. The first few terms of $\{P_n(s,t)\}_{n \in \mathbb{N}}$ are 0, 1, 2s, $4s^2 + t$, $8s^3 + 4st$ and so on. The terms of this sequence are called (s,t)-Pell numbers and we denoted the $n^{th}(s,t)$ -Pell numbers by $P_n(s,t)$. The (s,t)-Pell numbers for negative subscripts can be defined as $P_{-n}(s,t) = \frac{-P_n(s,t)}{(-t)^n}$, for all $n \ge 1$. Then it follows that $P_n(s,t) = 2sP_{n-1}(s,t) + tP_{n-2}(s,t)$, for all $n \in \mathbb{Z}$. Also, (s,t)-Pell-Lucas sequences $\{Q_n(s,t)\}_{n\in\mathbb{N}}$ [1] is defined by $Q_0(s,t) = 2$, $Q_1(s,t) = 2s$ and

$$Q_n(s,t) = 2sQ_{n-1}(s,t) + tQ_{n-2}(s,t), \quad \text{for all } n \ge 2,$$
(2)

The first few terms of $\{Q_n(s,t)\}_{n\in\mathbb{N}}$ are 2, 2s, $4s^2 + 2t$, $8s^3 + 6st$ and so on. The terms of this sequence are called (s,t)-Pell-Lucas numbers and we denoted the $n^{th}(s,t)$ -Pell-Lucas numbers by $Q_n(s,t)$. The (s,t)-Pell-Lucas

numbers for negative subscripts are defined as $Q_{-n}(s,t) = \frac{Q_n(s,t)}{(-t)^n}$, for all $n \ge 1$. It can be seen that $Q_n(s,t) = 2sP_n(s,t) + 2tP_{n-1}(s,t)$ and $Q_n(s,t) = P_{n+1}(s,t) + tP_{n-1}(s,t)$ for all $n \in \mathbb{Z}$ For more detailed information about (s,t)-Pell and (s,t)-Pell-Lucas numbers can be found in [1].

From the definitions of (s,t)-Pell and (s,t)-Pell-Lucas numbers, we have that the characteristic equation of (1) and (2) are in the form

$$x^2 = 2sx + t \tag{3}$$

and the root of equation (3) are $\alpha = s + \sqrt{s^2 + t}$ and $\beta = s - \sqrt{s^2 + t}$. We note that $\alpha + \beta = 2s$, $\alpha - \beta = 2\sqrt{s^2 + t}$ and $\alpha\beta = -t$. Also, from the definitions of (s,t)-Pell and (s,t)-Pell-Lucas numbers, we have that if $s = \frac{1}{2}$, t = 1, then the classical Fibonacci and Lucas sequence are obtained, and if s = 1, t = 1, then the classical Pell and Pell-Lucas sequence are obtained. It is well known that the Fibonacci, Lucas, Pell and Pell-Lucas sequences are the famous recursive sequences that have been studied in the literatures by many authors for over several years, because they are extensively used in various research areas such as Engineering, Architecture, Nature and Art (for examples see: [2-7]).

In this paper, we will establish some identities for (s,t)-Pell and (s,t)-Pell-Lucas numbers by using matrix methods. Moreover, we present the solution of some Diophantine equations by applying these identities. In the rest of this paper, for convenience we will use the symbol P_n and Q_n instead of $P_n(s,t)$ and $Q_n(s,t)$ respectively.

2. Main Results

In this section, we will establish some identities for (s,t)-Pell and (s,t)-Pell-Lucas numbers by using the square matrix X which satisfy the property $X^2 = 2sX + tI$. Now, we begin with the following three Lemmas.

Lemma 2.1. If X is a square matrix with $X^2 = 2sX + t/$, then $X^n = P_n X + tP_{n-1}/$ for all $n \in \mathbb{Z}$. Proof. If n = 0, then the proof is obvious. It can be shown by induction that $X^n = P_n X + tP_{n-1}/$ for all $n \in \mathbb{N}$. Now, we will show that $X^{-n} = P_{-n}X + tP_{-n-1}/$ for all $n \in \mathbb{N}$. Let $Y = 2s/-X = -tX^{-1}$. Then we have

$$Y^{2} = (2sl - X)^{2} = 2s(2sl - X) + tl = 2sY + tl$$
.

It implies that $Y^n = P_n Y + tP_{n-1}/$. That is $(-tX^{-1})^n = P_n(2s/-X) + tP_{n-1}/$. Thus

$$(-t)'' X''' = 2sP_n I - P_n X + tP_{n-1} I$$
$$= -P_n X + (2sP_n + tP_{n-1})I$$
$$= -P_n X + P_{n+1} I.$$

$$x^{-n} = -\frac{P_n}{(-t)^n} x + \frac{P_{n+1}}{(-t)^n} I = P_{-n} x + t P_{-(n+1)} I = P_{-n} x + t P_{-n-1} I$$

This complete the proof.

Lemma 2.2. Let
$$W = \begin{bmatrix} s & 2(s^2 + t) \\ \frac{1}{2} & s \end{bmatrix}$$
, then $W^n = \begin{bmatrix} \frac{1}{2}Q_n & 2(s^2 + t)P_n \\ \frac{1}{2}P_n & \frac{1}{2}Q_n \end{bmatrix}$ for all $n \in \mathbb{Z}$.

Proof. Since $W^2 = 2sW + tI$, the proof follows from Lemma 2.1 and using $Q_n = 2sP_n + 2tP_{n-1}$.

Lemma 2.3.
$$Q_n^2 - 4(s^2 + t)P_n^2 = 4(-t)^n$$
 for all $n \in \mathbb{Z}$.
Proof. Since $\det(W^n) = (\det(W))^n = (-t)^n$ and $\det(W^n) = \frac{1}{4}Q_n^2 - (s^2 + t)P_n^2$, we get
 $Q_n^2 - 4(s^2 + t)P_n^2 = 4(-t)^n$.

Lemma 2.4. $2Q_{m+n} = Q_m Q_n + 4(s^2 + t)P_m P_n$ for all $m, n \in \mathbb{Z}$. Proof. Since $W^{m+n} = W^m W^n$, we get the result.

Lemma 2.5. $\alpha^n = \alpha P_n + tP_{n-1}$ and $\beta^n = \beta P_n + tP_{n-1}$ for all $n \in \mathbb{Z}$. Proof. Take $x = \begin{bmatrix} \alpha & 0 \\ 0 & \beta \end{bmatrix}$, then $x^2 = 2sx + tI$. By Lemma 2.1, we have $x^n = P_n x + tP_{n-1}I$. It follows that $\begin{bmatrix} \alpha^n & 0 \\ 0 & \beta^n \end{bmatrix} = \begin{bmatrix} \alpha P_n + tP_{n-1} & 0 \\ 0 & \beta P_n + tP_{n-1} \end{bmatrix}$.

This implies that $\alpha^n = \alpha P_n + t P_{n-1}$ and $\beta^n = \beta P_n + t P_{n-1}$.

By using Lemma 2.1 and Lemma 2.5, we get the following Theorem.

Theorem 2.6. Let
$$A = \begin{bmatrix} \alpha & 0 \\ t & \beta \end{bmatrix}$$
, then $A^n = \begin{bmatrix} \alpha^n & 0 \\ tP_n & \beta^n \end{bmatrix}$ for all $n \in \mathbb{Z}$

Proof. Since
$$A^2 = \begin{bmatrix} 2s\alpha + t & 0 \\ t(\alpha + \beta) & 2s\beta + t \end{bmatrix} = 2sA + tl$$
, by Lemma 2.1 and Lemma 2.5, we get that $A^n = P_n A + tP_{n-1}l = \begin{bmatrix} \alpha^n & 0 \\ tP_n & \beta^n \end{bmatrix}$. Thus, we get the result.

By using Theorem 2.6, we get the following Theorem.

Theorem 2.7. Let $m, n \in \mathbb{Z}$. Then

$$4(s^{2}+t)(-t)^{m}P_{n}^{2}+4(s^{2}+t)(-t)^{n}P_{m}^{2}-Q_{m+n}^{2}=-4(s^{2}+t)P_{m}P_{n}Q_{m+n}-4(-t)^{m+n}.$$

Proof. Let a matrix A as in Theorem 2.6. It can be seen that

$$\frac{1}{t}A^{n+1} + A^{n-1} = \begin{bmatrix} \frac{2\sqrt{s^2 + t}}{t}\alpha^n & 0\\ t\\ Q_n & -\frac{2\sqrt{s^2 + t}}{t}\beta^n \end{bmatrix}.$$

Since $\left(\frac{1}{t}A^{n+1} + A^{n-1}\right)\left(\frac{1}{t}A^{m+1} + A^{m-1}\right) = \frac{1}{t^2}A^{m+n+2} + \frac{2}{t}A^{m+n} + A^{m+n-2}$, we get that
 $2\sqrt{s^2 + t}P_{m+n} = \alpha^m Q_n - \beta^n Q_m.$

Thus,

$$4(s^{2} + t)P_{m+n}^{2} = (2\sqrt{s^{2} + t}P_{m+n})(2\sqrt{s^{2} + t}P_{m+n})$$
$$= (\alpha^{m}Q_{n} - \beta^{n}Q_{m})(\alpha^{n}Q_{m} - \beta^{m}Q_{n}).$$

Since $4(s^{2} + t)P_{m+n}^{2} = Q_{m+n}^{2} - 4(-t)^{m+n}$, we obtain

$$(-t)^{m}Q_{n}^{2} + (-t)^{n}Q_{m}^{2} + Q_{m+n}^{2} = Q_{m}Q_{n}Q_{m+n} + 4(-t)^{m+n}.$$
(4)

Since $Q_n^2 = 4(s^2 + t)P_n^2 + 4(-t)^m$ and $Q_mQ_n = 2Q_{m+n} - 4(s^2 + t)P_mP_n$, we get that

$$4(s^{2}+t)(-t)^{m}P_{n}^{2}+4(s^{2}+t)(-t)^{n}P_{m}^{2}-Q_{m+n}^{2}=-4(s^{2}+t)P_{m}P_{n}Q_{m+n}-4(-t)^{m+n},$$
(5)

and so the proof is completed.

Example 2.8. Let m = 1 and n = 2. Then

$$4(s^{2} + t)(-t)^{1}P_{2}^{2} + 4(s^{2} + t)(-t)^{2}P_{1}^{2} - Q_{3}^{2} = -4(s^{2} + t)P_{1}P_{2}Q_{3} - 4(-t)^{3}.$$

Proof. Consider,

$$4(s^{2} + t)(-t)^{1}P_{2}^{2} + 4(s^{2} + t)(-t)^{2}P_{1}^{2} - Q_{3}^{2} = 4(s^{2} + t)(-t)(2s)^{2} + 4(s^{2} + t)t^{2}(1)^{2} - (8s^{3} + 6st)^{2}$$
$$= -16s^{4}t - 16s^{2}t^{2} + 4s^{2}t^{2} + 4t^{3} - 64s^{6} - 96s^{4}t - 36s^{2}t^{2}$$
$$= -64s^{6} - 112s^{4}t - 48s^{2}t^{2} + 4t^{3},$$

and

$$-4(s^{2} + t)P_{1}P_{2}Q_{3} - 4(-t)^{3} = -4(s^{2} + t)(1)(2s)(8s^{3} + 6st) + 4t^{3}$$
$$= -64s^{6} - 112s^{4}t - 48s^{2}t^{2} + 4t^{3}.$$
Thus, $4(s^{2} + t)(-t)^{1}P_{2}^{2} + 4(s^{2} + t)(-t)^{2}P_{1}^{2} - Q_{3}^{2} = -4(s^{2} + t)P_{1}P_{2}Q_{3} - 4(-t)^{3}.$

Theorem 2.9. Let $m, n \in \mathbb{Z}$. Then

$$(-t)^{m}Q_{n}^{2} - 4(s^{2} + t)(-t)^{n}P_{m}^{2} - 4(s^{2} + t)P_{m+n}^{2} = -4(s^{2} + t)Q_{n}P_{m}P_{m+n} + 4(-t)^{m+n}.$$

Proof. By using a similar argument as in Theorem 2.7 and the property

$$\binom{1}{t}A^{n+1} + A^{n-1}A^{m} = A^{m}\binom{1}{t}A^{n+1} + A^{n-1} = \frac{1}{t}A^{m+n+1} + A^{m+n-1}$$

we get that

$$Q_{m+n} = \alpha^m Q_n - 2\sqrt{s^2 + t}\beta^n P_m \text{ and } Q_{m+n} = 2\sqrt{s^2 + t}\alpha^n P_m + \beta^m Q_n.$$

It follows that

$$Q_{m+n}^{2} = (\boldsymbol{\alpha}^{m} Q_{n} - 2\sqrt{s^{2} + t}\boldsymbol{\beta}^{n} P_{m})(2\sqrt{s^{2} + t}\boldsymbol{\alpha}^{n} P_{m} + \boldsymbol{\beta}^{m} Q_{n})$$
$$= 4(s^{2} + t)Q_{n}P_{m}P_{m+n} + (-t)^{m}Q_{n}^{2} - 4(s^{2} + t)(-t)^{n}P_{m}^{2}.$$

Since $Q_{m+n}^2 = 4(s^2 + t)P_{m+n}^2 + 4(-t)^{m+n}$, we have

$$(-t)^{m}Q_{n}^{2} - 4(s^{2} + t)(-t)^{n}P_{m}^{2} - 4(s^{2} + t)P_{m+n}^{2} = -4(s^{2} + t)Q_{n}P_{m}P_{m+n} + 4(-t)^{m+n}.$$
(6)

This completed the proof.

Example 2.10. Let m = 2 and n = 0. Then

$$(-t)^{2}Q_{0}^{2} - 4(s^{2} + t)(-t)^{0}P_{2}^{2} - 4(s^{2} + t)P_{2}^{2} = -4(s^{2} + t)Q_{0}P_{2}P_{2} + 4(-t)^{2}.$$

Proof. Consider,

$$(-t)^{2}Q_{0}^{2} - 4(s^{2} + t)(-t)^{0}P_{2}^{2} - 4(s^{2} + t)P_{2}^{2} = t^{2}(2)^{2} - 4(s^{2} + t)(1)(2s)^{2} - 4(s^{2} + t)(2s)^{2}$$
$$= -32s^{4} - 32s^{2}t + 4t^{2},$$

and

$$-4(s^{2} + t)Q_{0}P_{2}P_{2} + 4(-t)^{2} = -4(s^{2} + t)(2)(2s)(2s) + 4t^{2}$$
$$= -32s^{4} - 32s^{2}t + 4t^{2}.$$

Thus, $(-t)^2 Q_0^2 - 4(s^2 + t)(-t)^0 P_2^2 - 4(s^2 + t)P_2^2 = -4(s^2 + t)Q_0 P_2 P_2 + 4(-t)^2$.

3. Applications

In this section, by applying Theorem 2.7 and Theorem 2.9, we give the solutions of some Diophantine equations. We will investigate in two cases:

Case 1: If $s \in \mathbb{Z}^+$ and t = 1, then we get the following Theorems

Theorem 3.1. If *m* and *n* are even integers, then the integer solutions of the equation

 $z^{2} - 4(s^{2} + 1)x^{2} - 4(s^{2} + 1)y^{2} = 4(s^{2} + 1)xyz + 4 \text{ are given by } (x, y, z) = (P_{m}(s, 1), P_{n}(s, 1), Q_{m+n}(s, 1)). \text{ If } m$ and n are odd integers, then the integer solutions of the equation $z^{2} + 4(s^{2} + 1)x^{2} + 4(s^{2} + 1)y^{2} = 4(s^{2} + 1)xyz + 4$ are given by $(x, y, z) = (P_{m}(s, 1), P_{n}(s, 1), Q_{m+n}(s, 1))$ and if m is an odd integer and n is an even integer, then the integer solutions of the equation $z^{2} - 4(s^{2} + 1)x^{2} + 4(s^{2} + 1)y^{2} = 4(s^{2} + 1)xyz - 4$ are given by $(x, y, z) = (P_{m}(s, 1), P_{n}(s, 1), Q_{m+n}(s, 1)).$

Proof. The result follows immediately from Theorem 2.7.

Theorem 3.2. If m and n are even integers, then the integer solutions of the equation

 $z^{2} + x^{2} + y^{2} = xyz + 4$ are given by $(x, y, z) = (Q_{m}(s, 1), Q_{n}(s, 1), Q_{m+n}(s, 1))$ If *m* and *n* are odd integers, then the integer solutions of the equation $z^{2} - x^{2} - y^{2} = xyz + 4$ are given by $(x, y, z) = (Q_{m}(s, 1), Q_{n}(s, 1), Q_{m+n}(s, 1))$ and if *m* is an odd integer and *n* is an even integer, then the integer solutions of the equation $z^{2} + x^{2} - y^{2} = xyz - 4$ are given by $(x, y, z) = (Q_{m}(s, 1), Q_{n}(s, 1), Q_{m+n}(s, 1))$ and if *m* is an odd integer and *n* is an even integer, then the integer solutions of the equation $z^{2} + x^{2} - y^{2} = xyz - 4$ are given by $(x, y, z) = (Q_{m}(s, 1), Q_{n}(s, 1), Q_{m+n}(s, 1))$. **Proof.** The result follows directly from (4).

Theorem 3.3. If m and n are even integers, then the integer solutions of the equation

 $x^{2} - 4(s^{2} + 1)y^{2} - 4(s^{2} + 1)z^{2} = -4(s^{2} + 1)xyz + 4 \text{ are given by } (x, y, z) = (Q_{n}(s, 1), P_{m}(s, 1), P_{m+n}(s, 1)).$ If *m* and *n* are odd integers, then the integer solutions of the equation $x^{2} - 4(s^{2} + 1)y^{2} + 4(s^{2} + 1)z^{2} = 4(s^{2} + 1)xyz - 4$ are given by $(x, y, z) = (Q_{n}(s, 1), P_{m}(s, 1), P_{m+n}(s, 1))$ and if *m* is an odd integer and *n* is an even integer, then the integer solutions of the equation $x^{2} + 4(s^{2} + 1)y^{2} + 4(s^{2} + 1)z^{2} = 4(s^{2} + 1)xyz + 4$ are given by $(x, y, z) = (Q_{n}(s, 1), P_{m}(s, 1), P_{m+n}(s, 1)).$

Proof. The result follows immediately from Theorem 2.9.

Case 2: If $s \in \mathbb{Z}^+$ and t = -1, then we get the following Theorems

Theorem 3.4. The integer solutions of the equation $z^2 - 4(s^2 - 1)x^2 - 4(s^2 - 1)y^2 = 4(s^2 + 1)xyz + 4$ are given by $(x, y, z) = (P_m(s, -1), P_n(s, -1), Q_{m+n}(s, -1))$. **Proof.** The result follows immediately from Theorem 2.7.

Theorem 3.5. The integer solutions of the equation $z^2 + x^2 + y^2 = xyz + 4$ are given by $(x, y, z) = (Q_m(s, -1), Q_n(s, -1), Q_{m+n}(s, -1))$. **Proof.** The result follows directly from (4).

Theorem 3.6. The integer solutions of the equation $4(s^2 - 1)z^2 - x^2 + 4(s^2 - 1)y^2 = 4(s^2 - 1)xyz - 4$ are given by $(x, y, z) = (Q_n(s, -1), P_m(s, -1), P_{m+n}(s, -1))$. **Proof.** The result follows immediately from Theorem 2.8.

4. Conclusion

Nowadays, many mathematicians are interested in solving Diophantine equations. We think it is a little hard and interesting to give all integer (positive integer) solutions of the Diophantine equations.

$$z^{2} - 4(s^{2} + 1)x^{2} - 4(s^{2} + 1)y^{2} = 4(s^{2} + 1)xyz + 4$$

$$z^{2} + 4(s^{2} + 1)x^{2} + 4(s^{2} + 1)y^{2} = 4(s^{2} + 1)xyz + 4$$

$$z^{2} - 4(s^{2} + 1)x^{2} + 4(s^{2} + 1)y^{2} = 4(s^{2} + 1)xyz + 4$$

$$z^{2} + x^{2} + y^{2} = xyz + 4$$

$$z^{2} - x^{2} - y^{2} = xyz + 4$$

$$z^{2} + x^{2} - y^{2} = xyz - 4$$

$$x^{2} - 4(s^{2} + 1)y^{2} - 4(s^{2} + 1)z^{2} = -4(s^{2} + 1)xyz + 4$$

$$x^{2} - 4(s^{2} + 1)y^{2} + 4(s^{2} + 1)z^{2} = 4(s^{2} + 1)xyz - 4$$

$$x^{2} + 4(s^{2} + 1)y^{2} + 4(s^{2} + 1)z^{2} = 4(s^{2} + 1)xyz + 4$$

$$z^{2} - 4(s^{2} - 1)x^{2} - 4(s^{2} - 1)y^{2} = 4(s^{2} + 1)xyz + 4$$

and

$$4(s^{2}-1)z^{2}-x^{2}+4(s^{2}-1)y^{2}=4(s^{2}-1)xyz-4.$$

Although they have infinite many integer solutions by the above Theorems.

5. Acknowledgement

The authors would like to thank the faculty of science and technology, Rajamangala University of Technology Thanyaburi (RMUTT), Thailand for the financial support. Moreover, the authors would like to thank the referees for their valuable suggestions and comments which helped to improve the quality and readability of the paper.

6. References

- H.H. Gulec, N. Taskara, On the (s, t)-Pell and (s, t)-Pell Lucas sequences and their matrix representations, Appl. Math. Lett. 25(10) (2012) 1554 – 1559.
- [2] T. Koshy, Pell and Pell-Lucas Numbers with Applications. Springer, Berlin, 2014.
- [3] T. Koshy, Fibonacci and Lucas Numbers with Applications, John Wiley and Sons Inc., New York, 2001.
- [4] M.S. El Naschie, The Fibonacci Code behind Super Strings and P-Branes: An Answer to M. Kakus Fundamental Question, Chaos Solution Fract. 31 (2007) 537 – 547.
- [5] M.S. El Naschie, Notes on Superstrings and the Infinite Sums of Fibonacci and Lucas Numbers, Chaos Solution Fract.
 12 (2001) 1937 1940.
- [6] A.P. Stakhov, Fibonaccci Matrices: A Generalization of the Cassini Formula and a New Coding Theory. Chaos Solution Fract.
 30 (2006) 56 66.
- [7] A.P. Stakhov, The Generalized Principle of the Golden Section and Its Applications in Mathematics, Science and Engineering, Chaos Solution Fract. 26 (2005) 263 289.